SN SASYD
IE: SHSYL SASY IM N (SAUDB/2Y)

SHel: &eay IXE +ES (Ers: &2
2M-33-2(80) - HIRANE - BES Ol &4 BIPSE Husz
SA2YD 12,769,578 6,354,000 6,415,578

3 1,500,000 1,500,000 0

o] 2,003,000 2,003,000 0

= 9,266,578 2,851,000 6,415,578

SHSYL S48y I N (SHUBL/BY) 8,188,250 2,603,000 5,585,250
| 2,003,000 2,003,000 0

= 6,185,250 600,000 5,585,250

H98Y N +E3 5,585,250 5,585,250
YES SAGYHIH 7S 5,550,250 0 5,550,250
201 Br2 | 20,000 0 20,000

01 At 22t 20,000 0 20,000
OSL Uyl =N S2AY 2 20,000 0 20,000

202 01| 30,250 0 30,250
SETET 30,250 0 30,250
oA Al ¥ AHIA HA 5,000 0 5,000
OSUY Ul SN S2AY L3t 25,250 0 25,250

308 Xt XI EHHI S 01 & 5,500,000 0 5,500,000

10 I 2SO BB AX IS AL 5,500,000 0 5,500,000
o= AHlA HA 2,800,000 0 2,800,000
osAYL AHIA HM 2,000,000 0 2,000,000
o2y %4 ol S8 BHEH 29 700,000 0 700,000
ST SAAE AN 2T 35,000 0 35,000
201 YEr2 | 30,000 0 30,000

01 ALR 22t 30,000 0 30,000
ofIMBE U I 2Y 30,000 0 30,000

202 01t 5,000 0 5,000

01 2Hoibl 5,000 0 5,000
oMYA NE HY 5,000 0 5,000
SHSYL S48Y T4 (STHLLN/5Y - 55) 4,561,000 3,751,000 810,000
2 1,500,000 1,500,000 0

= 3,061,000 2,251,000 810,000

ST AE - 9N MY 84 4,561,000 3,751,000 810,000
2 1,500,000 1,500,000 0

= 3,061,000 2,251,000 810,000

ST AB - NN SEXH 1,561,000 751,000 810,000
403 RXISHH S K= 0| & 1,080,000 270,000 810,000

01 RXSHA= 2T 1,080,000 270,000 810,000
o8YW 2HO0 =4 AHIA X 990,000 90,000 900,000
OYRET HESH HSF 29 0 90,000 £90,000

HYS AP (SASYD)OIEHIIEH 20,328 0 20,328
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M SASYD
B WHSAAH (SASYD)OIEHIIEH
eH9l: 2| R
SH-ZH-SA(SH) - NEANY - BHES Oil &4 JNEA Husz
o= 20,328 0 20,328
FA2E J122Hl 20,328 0 20,328
201 €23l 11,928 0 11,928
01 At 2teltl 11,928 0 11,928
ORN2Y AtRZcld] 11,928 0 11,928
202 Odl 5,400 0 5,400
01 =UHOdHI 5,400 0 5,400
ORAM2Z SO 5,400 0 5,400
203 & 2= bl 3,000 0 3,000
04 EA2SHRFAH| 3,000 0 3,000
©15¢l 0|35t 3,000 0 3,000
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